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BLM 5-5 Section 5.4 Extra Practice
1. a) no solution b) £,20 ¢) -3
2.2)8 b)2 ¢)-3

3.3)1.79 b)1.01 ) 136

4.3)-1.76 b)-1.81 ¢)-9.32

5. Example: If Nicole's work: i3 preferred it iz becanse
it uzes the definition of logarithm to convert 5 into
log: 32. Once this iz done, the logarithm can be
dropped from both sides of the equation. If Jozeph's
work is preferred, it i3 becavse it converts the
logarithmic equation into an exponential function.
6. Example: Samuel’s error occurs in his first
calenlation: log 300 divided by log 5 dpes not equal
log 100. To solve the equation correctly, Samuel
should first caleulate the log of 300 and then divide
thiz value by the log of 5.

log 300

——=x

log 3

2698097...

0.69897...
x=3.86
T.a)2.39 b)E c)nosolution d) 6
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